wod Apnysqasq mmm//:dny

fwa wiy =

Bubject Code ; 1 1 1 . Y

SECONDARY SCHOOL EXAMINATION | 3
:I:-l Nz ey 2020 - (ANNUAL) H

uestion Paper
Set Code SOCIAL SCIENCE { 4
H ( Optional Compulsory ) [ a
umm fam= ;
( ¢Row Hfard )

T wedl &) W@ a8 + 31 =79
Total No. of Questions : 48 + 31 = 79

http://www.bsebstudy.com

Fe Hfza g2 ) W 24
Total No. of Printed Pages : 24

(F9g : 2 W2 45 fr2) (ot : 80)

| Time : 2 Hours 45 Minutes |

[ Full Marks : 80 |

werEnferat & ford A3 -

Instructions for the candidates :

1.

Tt qeraya v iEt A & I G

Candidates are required to give their answers in their own words as far as
practicable.

et 3 aford o R gU 3 gt Ffre e &1

Figures in the right hand margin indicate full marks.

30 qET & AEgEE g1 & [ 15 A @1 aifafte qwa Rear w1

15 minutes of extra time has been allotted to read the questions carefully.

T7 gvIT 21 GU3T § [y & Wud-3 U9 @vE-g|
This question paper is divided into two sections — Section-A and Section-B.

avs- § 48 a5glAe wvT & fH q05v sifrard &1 afc saemal 408 I et
& 3IW A/t &, at WUq 40 I FT & G fwar QW AAF T & fovw
1 3% [uiftd 1 OMRITR-T9% W Ry M0 WEt g7 i Fel/Ae 67 97 ] 53/ fvet
Wi W7 & g@IFeAv / AV QT / &% / AT T T OMR INV-UA® ¥ W4T
TET ¢ AT TOHT TR 3T
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hich 40 questions are

ns out of W

In Section-A there arc 48 objective type qud’“:o q“tstfons. the first 40 ansu:’cr;
han Darken the correct circle

compulsory. If the candidate answers more t &
only will be evaluated. Each qucguon carmes 1 ba'"‘“" pen. Do n ot use whitener
given on the OMR answer sheet with black / blue - sheet otherwise the

we
liquid material / blade / nail etc. on the OMR ans

result will be invalid. :

} e qAF T &
avg-u i arnf fma & ST g s & 7Y e ¢
fee 2 siw Frife &1 _ations of 5 subjects of Soetal

In Section-B there are Short Answer Type qu

Sclence. Each question cames 2 marks. _ * el 4

- gyt & I /
s 5i sy 370 59 (Q.Nos. 18 §) & Fradd el 3; T s) out of which any
History has § Short Answer Type questions (Q. Nos.

3 questions are to be answered.
ity e 5 6 ey 3T 5¥ (Q. Nos. 8 & 13 & Fri foed 29%7 & Im
W & 8 to 13) out of

Political Science has 6 Short Answer Type questions (Q. Nos.

which any 2 questions are to be answered. ) oy
snebyiren 5 3y 3 WET (O Nos. 16 % 18) & Frerel fisel 291 & I &1 €1
Economics has 3 Short Answer Type questions (Q. Nos. 16 to 18) out of which any
2 questions are to be answered.

iy 5 5y It 5¥ (Q. Nos. 21 & 29) &, Forrd fast JW*W"’”’
Geography has 5 Short Answer Type questions (Q. Nos. 21 to 25) out of which any
3 questions are o be answered.

ST WURET 5 4 7Y 3705 57 (Q. Nos. 28 # 31) &, Frrd e 297 & 3w
&1 &

Disaster Management has 4 Short Answer Type questions (Q. Nos. 28 to 31) out
of which any 2 questions are to be answered.

g7@ Jifafrer 8 314 ITIT K¥T (Q. Nos. 6, 7, 14, 15, 19, 20, 26, 27) & | F % 5771 &
fee & & Fifea &1 sfrers, ot faam, srimmer od spier § gl 8@ 0F-0F
q¥T &1 3 &

Apart from these, there are 8 Long Answer Type questions (Q. Nos. 6,7, 14, 15, 19,
20, 26, 27). Each question cames 4 marks. One Long Answer Type question each
Jrom History, Political Saience, Economics and Geography is to be answered.

gt W & seraRiiae IV FT ITANT TET )

Do not use any type of electronic instrument.
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Ty - ¥ / SECTION- A

mﬂmm / Objective Type Questions
W¥T Wear 1 ® 47w & wdw nyw & ww e fwew v nv § At 7 o ot

S grT W7 r wat fwew & oMR Yz W RifRTE w1 dam 40 T & o 3T &

40x1=40
Question Nos. 1 to 48 have Jour options cach, out of which only one is correct. Mark your

Selected option on the OMR shect. Answer any 40 questions. 40x 1 =40

1. &aﬂww&:mqﬁqﬁm-t&MmMWMﬁmmﬁ
ferg gan 2

A) T (B)

(C) 3N ﬁf/lfd"ﬂ'ﬂm

After the second great war which organisation in Europe emerged to remove the
cconomic ill effects ?

(A)  SAARC | (B) NATO

(C)  OPEC (D)  European Union

2. [ow e, 5w A S g8 weaw 39 €, wEl 931 e 2

(A)  TETE T B) wfeT T

(C) HE=Tg (D) ¥ TElE

Who said printing is the greatest gift of God ?

(A)  Mahatma Gandhi (B) Martin Luther

(C)  Prophet Muhammad (D) Jesus Christ
[ 111 ] H [S011-H ug] |, Page 3 of 24
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e & s @ @) = g FE 2

g 177
A 16T o
o 187 o 19
What is the minimum age to be a voter in India ?
(A) 16 ycars (B) 17 years
(C) 18 ycars (D) 19 years
W 3 o W @ e o § 2 |
(A) Wi 3R s (B) €A 3R FE
) TS 3R i (D) TS 3 e
What type of syst;:m of government is there in India ?
(A)  Federal and Presidential (B) Federal and Parliamentary
(C)  Unitary and Presidential (D)  Unitary and Parliamentary
WRa % FAR F FEAN(E IARE T €
(&)  ofeEw @ (B @S
© 3o - o) TG
The leading coal producing state in India is
. WestBengil (B)  Jharkhand
5 Odim (D)  Chhattisgarh
YIRA F WU -3 IARE I &
() R A AR g e sco)
o e ot ik e e msco)
(€ R e fad

D) e v m'mmm
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The first iron and steel producing industry is
(A)  Indian lron and Steel Cﬁmpnny (ISCO)
(B)  Tata lron and Steel Company (TISCO)
(C)  Bokaro Steel City

(D)  Viswesvaraya lron and Stecl Plant

w@ihm o gt
AN TRE By TEH A A
(C) ¥ mmi (D) 9 HM R

Golden Quadrilateral is related to

(Al Railways (B) Roadways
(C) Waterways | (D)  Airways
U SREE &
(ny  Afran 8 (B) TR §
(C) Hiferd & D) BIH
Gandak project is in
(A)  Bettiah (B)  Valmikinagar
(C) Motihari (D) Chapra
1 § @ -1 1 9 St sEsl & e T E 2
(A)  SHF[A & T FEMA (B) WA Ud fremt g
IS SRR A (D) TEHEHH IR
[ 111 ] H [SOT1-H us Page 5 of 24

http://www.bsebstudy.com

wod Apn3Isqasq mmm//:dny



wod Apnysqasq mmm//:dny

http://www.bsebstudy.com

H
w ; democratic system ;
hich one of the following is not according to the dc

air clection
(A)  Equality before law @) Frecand fair

jonit
(C)  Responsible ruling system (D)  Rule of majo y

10. e # wher R FE

(A} AR A IFTEAA R

(B) i F AR-FEE FAE W

(C), iR i Fayet Fewie T

(D) ATt B oA e & fell &1 W W

Success of democracy depends on

(A)  disinterest of citizens

(B) illegal activites of citizens

(C) nc_li\rc participation of the citizens

(D)  sccure the benefits of their caste by _thc citizens
11, &R & W U FIR0m §

(A FH & W T ®) =hd

€ TEHE T oy FemEER

Bad cflect of feeling of regionalism is

(A)  Attachment to own rcgion' (B) National interest

(Cl. National integration (D)  Separationalism
[ 111 ]| H [ 5011-H qs Page 6 of 24
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12 HE R
W swriig dame (B) TERATViG TR
(C) W wanm (D) T QB
Conl is
(A) Non-renewable resource (B} Renecwable resource
(C) Biotic resource (D) None of these
13. &I
1By SIFIE T (B) WFER T
(C) WHFR 9 (D) ¥ A FE 7E
Landslidc is
(A)  Natural disaster ‘ (B) Man induced disaster
(C) Normal disaster (D) None of these

14. TR ael & $94 $T IR &
Aa) Teweges . (B) AW
Jor” g D) T A F§ T

The result of vibration of ocean bottom is

wod Apn3Isqasq mmm//:dny

(A)  Avalanche (B) Cyclone
(C) Tsunami (D)  None of these
[ 111 ] H [S011-H e Page 7 of 24
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e ) e e el ypn-at &

R @ A
JQ/ o At AR
The scismic wave reaching the earth's surface first i's
(A)  Pwave (B) Swave
(C) L wave (D) Twave
Al & T R
A WA B TR
€ ¥ A Py T A FE
Tsunami is related to
(A) Land (B) Sea
(C) Sky (D) Nonc of these

17.  QFEH T WG FA Il T H-E R 2

(A) T T

(C) wrHE Fiw W sl
Which institution promotes long term loans ?
(A)  Agricultural lenders

(B) Land Development Bank

(C) Primary Agﬁcullura.l_Crcdit Society

(D) Nonc of these

o s 4

(D) ™ A HIS T
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i fawma & Ao dmw k2

8
A e @) fom oy
() fmn ot oy
Which i the third sector of Economic development ?
(A]  Agriculture sector (B)  Science sector
(C)  Education sector (D)  Service sector
19, =if anfiaw siffa f fend wfxfem fem ma 2 hitp:/www.bsebstudy.com
A FEw ® Friww
) Anftwm N A
What was included in the New Economic Policy ?
(A Liberalisation (B) Privatisation
(C)  Globalisation | (D)  All of these
20. I g1 e wQ & fey SRk gee fem e 2
(A] 500 B) 7030
1o 10 %0 @ iRt
What is the application fec for making a complaint by the consumer ?
(A) Rs.S0 (B) Rs.70
(C) Rs. 10 (D) No application fee
[111]H [S011-Hum Page 9 of 24
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21, i s fe 7 7 T E 2
5217'*&
A) 1759 JE/I
© 193 (D) 22 3

When is Consumer Rights Day celebrated ?

h
(A)  17th March (B) | Sth Marc

1
(C)  19th Apnl (D) 22nd Apn

by AT & s a0 (e & 7

A T B &
ey gra (D) WR

How many factors constitute globalisation ?

(A) One (B) Two
JQ( | Five (D)  Four

23 ®R-E ¥ REER R 7

A dE@ B) (A

4(21/ Hie | D) TE W

Which of the following is a non-government service ?

(A)  Police service (B) Finance service
(C)  Mall service ' (D)  Railway service
[111 ) H [ S011-H as Page 10 of 24
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29 \ﬂ'{ﬂﬁfﬂ?ﬁummmmm{wtj

J:\i/ W B) fe=n
© 5 (D) ITw
Which is the financial capital of India ?
(A)  Mumbai (B) Delhi
, (C) Patna (D) Bengaluru
25, W9 T @ fagen i R
iy fefea dfaum (B) el it farvrer
(C) IHEQ WHA Hawl (D) W AIferH

Which is not a characteristic of a federal state ?

(A) Written constitution (B)  Power distribution

(C) .Unitary ruling system (D)  Supreme Judiciary
26. ¥ WIHR & FE ¢

Ay amf B M

© fw= (D) A FE

The example of federal government is

(A) America (B) China

(D)  None of these

(C)  Britain _
- mﬁmmmﬁqﬁﬁﬂﬁﬁiﬂﬁﬁﬁﬂqm ?

w e e B) i FAR

) e it »r
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. rantl
Who among the following, led the Sampurnd K

( Complete Rc\roluliom A

Bihar ?
(A} Morarji Desai (B) Nitish Kumar
(C)  Indira Gandhi (D) Jay prakash Narayan
. s w4 freen o g @ e 7
() T s @ e e d
@) i & sz & e
(C) mwmmwtmwﬂmmﬂmk
O W @) arfad o A @ i &5 dva anfes e AR
On which of the following points did democratic systcm get success ?
(A)  Abolished the political differences
(B)  Abolished the conflicts between the people
(C)  Majority and minority groups are trcated cqually |
(D)  Reduces the economic grade for the pocple standing in the last line
29, W W 3umg (feve e 3wmg) 1w fafere @ € 2
(A) U & few @ ¥ famm & fag
(€ ~HEnE W @ & e Pr TR & fa
For which purpose is remote sensing satellite used ?
(A)  For telecommunication (B)  For metcorology
(C)  For searching the resources (D)  For television
[ 111 ] H [ 5011-H us ' Page 12 of 24

http://www.bsebstudy.com

wod Apn3Isqasq mmm//:dny



wod Apnysqasq mmm//:dny

http://www.bsebstudy.com

0. % @ s w v ddeie am b
LU (B) T
(C) ¥ETER y}/ D1 {1
Which of the following is the most sensitive city to carthquake ?
(A)  Dchradun (B) Ranchi
(C)  Hyderabad (D)  Chennai
31, Feddif o sanamt
(A) 9" B) ¥
JQ/ faer D) feeeh
Which of the following is called backward state ?
(A)  Punjab (B) Kerala
(C) Bihar (D)  Delhi
32. SR ¥ favig a8 a9 F@r e € 2
(A) 19t @ 3) e aw (B) 1[I & 30 5[ %
oy 130 | 31 T 7 (D) 1 faamr @ 31 3T TF
Which of the following is Financial year in India ?
(A) From 1st January to 31st December
(B) | From 1st July to 30th June
(C) From lst April to 31st March
(D) From lst September to 31st August
[ 111 ] H [S011-H ng Page 13 of 24
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W w2 e w frae e A fa e fepgen fasan 2
(A Farfa )  wta A
© e o) e
In which post did Victor Emmanuel appoint Count Cavour ?
(A)  Army Chief (B)  Ambassador i Eranes
(C)  Prime Minister (D)  Home Minister
34, W vd Fe @ ifa @ e fee e 2
() e gy freew
©) faomd p) fafaamt
Who started the policy of blood and iron ?
(A)  Mazzini (B)  Hiter
(C)  Bismarck (D) William 1
35. WA ITEA H T TN FE g3 91 2
(A) FE (B) TNH
€ A (D)
Where was the first experiment of the communist governance started ?
(A)  Russia (B) Japan
(C) China (D) Cuba
[ 111 ] H | 5011-H s Page 14 of 24
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an iﬂm aﬂﬁ‘ﬁ!i ?

A W@, 1917 B) TR, 1917

(C) A, 1917 .oy femar, 1905

When did the Bolshevik revolution take place ?

(A)  February, 1917 (B) November, 1917

(C)  April, 1917 | (D)  September, 1905
37,  ® anig faega @i faa e o warfia € 2

™ T | () WM

© TTER D) T R

In which district is Kanti Thermal Power Project situated ?

(A) Pumia (B) Siwan

(C) Muzaffarpur (D) East Champaran

38. {1 ghvg HY Raa ¢ ?
gy TR | B R
© TR (o) W

Where is the railway workshop situated ?

(A)  Jamalpur () Bhagalpur
(C) Munger (D) Patna
39. AT I 9T FRO FE ?
(3 W A B) Uer & ¥ [
(€) e W I o)  d F W
[111 ]| H [5011-H us Page 15 of 24
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What in the main cause of Tsunami ?

i in area
(A) Earthquake in sea (3) I*Inrth(ll“'k"' in plo
(€)  Earthquake on mountain ' (D)  Non¢ of these:
qag W R 7
-y’d/ Wfﬂ'm? KV A (B) w_4 ﬂf-m' ‘m:m
(C)  WHEQ T D) i @ AN el
What is drought ?
(A)  Natural disaster (B) Man-made disaster
- (€)  Normal disaster . (D) Nonc of these
o 3 v Fefi @ @ FR 8
(A)  FHA=FA @) e Tl
© ¥ wERy [y ferarg
The main cause of land degradation in Punjab is
(A)  Dcforestation iB) Intensive cultivation
(€) 6t'crgruing . (D) Overirrigation
O YRR | 6 &1 A il &
(A)  55% (B) 60%
Sy 65% D) 70%
Amount of water present in human body is
(&) 55% - (B) 60%
€ 65% (D)  70%

| 111 | H [ S011-H ps
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3 Ml 8 @ dmm s o AR )

(A} T @/ sifeF
€ & o)
Which of the following creatures is found only in India ?
(A)  Crocodile (B) Dolphin
(€} Whale (D)  Tortoise
44, HIR IUM H W we o &
_W/ (B) G
(€) TR (D) e 3T
The main raw material of cement iqduslry is
(A) Limcstone (B) Bauxite
(C) Granite (D)  Iron ore
45. f&=-dH &R 9 99 R A 9 2
(a) I (B) SHE
19/ S . o =
Who were the first merchant (o arrive Indo-China ?
()  England (B) French
©) Portugal (O) Dutch .
[ 111 ] H [5011-H us) Page 17 of 24
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ufrma sorm it ww WjE 430 7

930
(A) 1920 J»"’/ :

(C) 1935 o) 1942

When did the civil disobedience movement atart ?

(A 1920 B) 1930
(C) 1935 (D) 1942
47.  TIEA Aw-TE@ J0m R
W sifem B S H
(C) WG WA (p) 9fEA I A
Rourkela iron and stcel industry is in
(A)  Odisha (B) Jharkand
(C) Madhya Pradesh (D)  West Bengal
s, i o 4 g R TR @ ) @ # w92 .
w it 9T (B) HHES TG
€ e s (D) TimwrER! T9fa
Which type of attitude emerged in urban system lcaving the fcudal system
behind ?  http://www.bsebstudy.com
(A)  Progressive attitude (B)  Aggressive attitude
(C}] Orthodox attitude (D)  Exploitative attitude
[ 111 ) H | 5011-H ps) Page 18 of 24
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Tus - 4 / SECTION - B

3f@™ / History

Y INAIT WIT / Short Answer Type Questions
gv7 @ 1 ¥ SWH?mﬁﬂfrgwﬁ#ﬁ‘iﬁsmﬂd'mé:mm&ﬁv

230 Froife 21 3x2=6
Question Nos. 1 to 5 are Short Answer Type. Answer any 3 questions. Each question
carmes 2 marks. Ix2=6
L el SR & v anftgan @ s # e 2 2
What was the role of Austria in the unification of Italy and Germany ?
5 g Al @ WY °l 2 )
What was the objective of Dandi March ?
3. " s HiEer wan o s ' feit # 2
"Non-cooperation movement was the first mass movement.” Comment.
a. mﬁm@ﬁaﬁﬁﬁiﬁmmmm? 2
How did industrialisation influence the livelihood of labourers ?
5. ﬁaimmmﬁm’iﬁhﬁmﬁaﬁn 2
Mention the characteristics of agro-economic activities of villages.
e I W / Long Answer Type Questions
7y GET 6 HIT 7 3 I & ﬁﬁ#ﬁrﬁwwmé‘:mm%ﬁv 4 HF
Fraffe 1 I1x4=4
Question Nos. 6 and 7 are Long Answer Type. Answer any one of them. Each question
carries 4 marks. Ix4=4
3 Rﬁ#gﬁﬂﬂﬁﬁ&ﬂ.mﬁnﬂﬁmﬁmﬁml 4

our and Garibaldi in the unification of

State the contributions of Mazzini, Cav

[taly.

Page 19 of 24
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7 i st b fadan wt "
What is New Economic Policy ? Discuss.
e fa@= / Political Science
¥Y INAT 9T / Short Answer Type Questions
o¥T Woar 8 ¥ 13 A% eg I &1 s @ ot 25t & I E e 7 % g
2 %% Fratfi 1 2x3%4
Question Nos. 8 to 13 are Short Answer Type. Answer any 2 questions. Each question
cames 2 marks. Axlss
B YIRA 1 fo 0@ ST A A ¥ 2 e H 2
How are the caste based differences prevalent in India ? Explain.
" 7 et i e v 2 2
What is the im;?orlancc of Power sharing in dc.mocmcy ?
10. R ¥ gu om HRIeH & TE FRO F 9 2 2
What were the main reasons for the students' movement in Bihar ?
L R e S s 3 o e dwd € 2 2
. How do you sce the future of democracy in India ?
12, AR v i 2
- Terrorism is a challenge for democracy. How ?
13, 9 g A A ) e ok st w o die fral fed 2

Wrilc a short note on the responsibility and objective of democracy in the

coming society.

[ 111 | H | 5011-H ne Page 20 of 24
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SRk 97T / Long Answer Type Questions

g7 WA 14U 15 30 gty &1 gmi @ faselt v @ I 31 AR 5T @ R
4 37 Fifea &) Ix4=4

Question Nos. 14 and 15 are Long Answer Type. Answer any one of them. Each question
L'Ljrrh”fi 4 mﬁrk.&', ‘ X 4 -4

i N & iR s @ s at Pt w8 ferdt % @ e ¥ @A
AR fufa o &) 4
Mention different aspects of life in which in India there is discrimination against

women and they are in weak position.

15 WRAAH W FFAT B G 6 qHA L 2 4

How could democracy be successful in India ?

ey |/ Economics

oq IAT UFA / Short Answer Type Questions
0sT GEAT 16 R 187% Fg It &1 F79 # 6T 20971 & IV F1 4AF 43 & foy

2 3% faffia 1 R
Question Nos. 16 to 18 are Short Answer Type. Answer any 2 questions. Each question
cames 2 marks. 2x2=41
16, svjeraed f&d @ed & 2 )
—
What is Economy ?
V7 W ] TR & WY ey wid ] 2
Explain the relationship between Income and Poverty.
187 ATM ®1 ¢ ? 2
What is ATM ?
| 111 | H [5011-H q8) Page 21 of 24
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%t Fa{ia W / Long Answer Type Questions
w7 deaT 19 1@ 3oa‘hf:raﬁvhn:f#ﬁrﬁwmmfl

4 3% fraifta 1 o
. sl

Question Nos. 19 and 20 are Long Answer Type. Answer any one of them. Each ques )
1 x4°

cames 4 marks.

1o, wn & meaph e aa & 2 T i faw v st @ @ w 4

: : in
What are the important clements of co-operation ? Explain its rol¢

development of a state.

a0 e & fefe e e sl % Fe e A e ¥ > e e ferd | 4

Explain with cxample how India is known as scrvice provider to the world.

~ yie / Geography
WY ITIT W / Short Answer Type Questions
v #r 21 @ 25 7% g IHa §1 e | ARt st & I 3 g v & T

2 3 fifia #1 3x2=6
Question Nos. 21 to 25 are Short Answer Type. Answer any 3 questions. Each question
carries 2 marks. 3x2=6
21, & T, 531 wel § fEw TR qehE ¢ ? 2
How is crop rotation helpful in the conservation of soil ?
y/qmﬁqw%W%MWWﬁmi ' 2

Describe the causes of pollution of the rivers in India.
Wﬁ%mﬁwmmmmm| : 2

Mcntion four main fac;tors of wildlife deterioration.
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AT At & e vl g @ s @ ¥ 2
What do you mcan by the conservation and management of mincrals ?

25 BRI & INET FH AL 2 2

How is solar encrgy produced ?

ﬁﬂ:ﬁl’ﬁﬂm / Long Answer Type Questions
9T WS 26 VA 27 4 Iwirw &1 39 ® FEAl vF &1 I 3 A9E WvA & fav
4 I (it #1 1x4=4

Question Nos. 26 and 27 are Long Answer Type. Answer any one of them. Each question

carmes 4 marks. l x4=4

26.  FERIEVI, Froaor AR A @ A9 w1 EHE & 2 4
What do you mcan by liberalisation, privatisation and globalisation ?
ywﬁmaﬁwamﬁuﬁmqqﬁmﬁmmmhﬁml 4
Describe the importance of transport and communication in Indian economy.

HTYET W&9= / Disaster Management

Fl'q'ﬁlﬂ'ﬂm / Short Answer Type Questions
Uy WEAT 287 317% 7Y 307 &1 399 § FRT 299 & Iv 31 44F WyA F v

2 3% Fraffta 5" ! 2x2=4
Question Nos. 28 to 31 are Short Answer Type. Answer any 2 questions. Each question
carries 2 marks. ' 2x2=4
28. 3NN fFeH THR H el & 2 5

How many types of disaster are there ?
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29 ) frtem & feg Jurg @

Suggest measures to control flood.
307 yEm ol g & i s we St

Differenuate between Earthquake and Tsunami.
31 SwfEE wEvE d e asa ) e o e s

Describe the role of local administration in emergency management.
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